

Non-regular Feedback Linearization of Switched Nonlinear Systems^{*}

Yanyan Yuan* Daizhan Cheng*

* Institute of Systems Science, Chinese Academy of Sciences, Beijing 100080, P.R.China. E-mail: yyyuan@amss.ac.cn, dcheng@iss.ac.cn

Abstract: In this paper, the problem of non-regular static state feedback linearization of nonlinear switched systems is considered. Using semi-tensor product, some easily verifiable sufficient conditions for non-regular feedback linearization are obtained. Then an example is presented to illustrate the non-regular linearization process.

1. INTRODUCTION

In recent years the investigation of switched control systems becomes a hot topic in control community Liberzon (1999), Sun (2005). The two main topics considered are stabilization and controllability. Lyapunov theory and its inverse theory for switched systems are the key for stability and stabilization Dayawansa (1999), Liberzon (1999). A particular attention has been paid to the quadratic Lyapunov function for switched linear systems Agrachev (2001), Shorten (2003), Cheng (2003). Some results have also been obtained for stabilization of switched systems Zhao (2001), Sun (2001), Cheng (2004), Cheng (2005). As a generalized Lyapunov approach, LaSalle's invariance principle has also been extended to switched systems Hespanha (2004).

The second major topic is the controllability. For switched linear systems, certain necessary and sufficient conditions for global controllability have been revealed Ge (2001), Xie (2003). When the system is not completely controllable, the controllable submanifolds are investigated in Cheng (2006).

There are also some results about switched nonlinear systems, e.g., Vu (2005), Cheng (2005), Mancilla-Aguilar (2006). But comparing with linear case, there are less systematic control techniques for nonlinear switched systems.

One of the most powerful tools to treat nonlinear systems is the linearization technique. We refer to Isidori (1995) for some classical linearization approaches, and to Cheng (2004), Sun (1997), Ge (2001) and the references therein for non-regular state feedback linearization.

Similar to nonlinear systems, if a switched nonlinear system is state feedback linearizable, both the controllability and the stabilizability problem are solved. This is the motivation for current work.

We first review some preliminaries for later investigation:

For a matrix A, let $\sigma(A) = \lambda = (\lambda_1, \dots, \lambda_n)$ be its eigenvalues. A is a resonant matrix if there exists m = $(m_1, \cdots, m_n) \in Z_+^n$, and $|m| \ge 2$, i.e., $m_i \ge 0$ and $\sum_{i=1}^{n} m_i \ge 2$, such that for some $s, \lambda_s = \langle m, \lambda \rangle$. A is non-resonant if it is not resonant.

Theorem 1. (Poincare's Theorem) (Arnold (2001))Consider a C^{ω} dynamic system

$$\dot{x} = Ax + f_2(x) + f_3(x) + \cdots, x \in \mathbb{R}^n,$$
 (1)

where $f_i(x), i \geq 2$ are ith degree homogeneous vector fields. If A is non-resonant, there exists a formal change of coordinates x = y + h(y), where h(y) corresponds to the sum of possibly infinite homogeneous vector polynomials $h_m(y), m \ge 2$, that is $h(y) = h_2(y) + h_3(y) + \cdots$, such that system (1) can be expressed as $\dot{y} = Ay$.

The following proposition provides a sufficient condition for non-resonance.

Proposition 2. (Devanathan (2001)) Let $\lambda = (\lambda_1, \dots, \lambda_n)$ be the eigenvalues of a given Hurwitz matrix A. A is nonresonant if

$$\max\{|Re(\lambda_i)||\lambda_i \in \sigma(A)\} \le 2\min\{|Re(\lambda_i)||\lambda_i \in \sigma(A)\}.$$

We give the following assumption:

A.1 A is a diagonal matrix with distinct diagonal elements and is non-resonant.

Definition 3. (Cheng (2004)) Let $A = \operatorname{diag}(\lambda_1, \cdots, \lambda_n)$ be a non-resonant matrix. The Lie-inverse matrices are $n \times n^k, k = 2, 3 \cdots$ matrices, its elements are

$$(\Gamma_k^n)_{ij} = \frac{1}{(\sum\limits_{s=1}^n \alpha_s^j \lambda_s) - \lambda_i}, i = 1, \cdots, n; \quad j = 1, \cdots, n^k,$$

where $\alpha_1^j, \cdots, \alpha_n^j$ are respectively the powers of x_1, \cdots, x_n of the *j*th component of x^k .

For the completeness, we define Γ_1^n as following,

$$(\Gamma_1^n)_{i,j} = \begin{cases} 0, & i = j, \\ \frac{1}{\lambda_j - \lambda_i}, & otherwise. \end{cases}$$

Let H_k^n be the set of kth degree homogeneous polynomial vector fields in \mathbb{R}^n . Then $ad_{Ax} : H_k^n \to H_k^n$ is a linear mapping.

^{*} Work was supported by NNSF 60674022, 60736022 of China.

Proposition 4. (Cheng (2004))

Suppose $A = diag(\lambda_1, \dots, \lambda_n)$ is non-resonant. Then $ad_{Ax} : H_k^n \to H_k^n$ is a isomorphism mapping. Moreover, if $V(x) = F_k x^k \in H_k^n$, then

$$ad^{-1}(V(x)) = (\Gamma_k^n \odot F_k)x^k$$

where \odot is the Hadamard product of matrices.

Here and in the following the matrix product is assumed to be semi-tensor product, which is briefly reviewed in Cheng (2002).

Note that if A is a non-resonant and simple matrix, then there is a non-singular matrix T such that TAT^{-1} satisfies A.1.

Proposition 5. (Zhong (2007)) Let A be non-resonant and TAT^{-1} be a diagonal matrix, then

$$ad_{Ax}^{-1}(V(x)) = T^{-1}(\Gamma_k^n \odot \tilde{F}_k)T(I_n \otimes T) \cdots (I_{n^{k-1}} \otimes T)x^k,$$
(2)

where

$$\tilde{F}_k = TF_kT^{-1}(I_n \otimes T^{-1})\cdots(I_{n^{k-1}} \otimes T^{-1}).$$

Using semi-tensor product, we can express system (1) as

$$\dot{x} = Ax + F_2 x^2 + F_3 x^3 + \cdots, \qquad (3)$$

where F_k are $n \times n^k$ constant matrices, $k = 2, 3 \cdots$.

Then we have the following result:

Theorem 6. (Cheng (2004)) Assume A satisfies A.1. Then system (3) can be transformed into a linear form

$$\dot{z} = Az$$

by the following coordinate transformation:

$$z = x - \sum_{i=2}^{\infty} E_i x^i,$$

where E_i are determined recursively as

$$E_{2} = \Gamma_{2} \odot F_{2},$$

$$E_{s} = \Gamma_{s} \odot \left(F_{s} - \sum_{i=2}^{s-1} E_{i} \Phi_{i-1} (I_{n^{i-1}} \otimes F_{s+1-i}) \right), s \ge 3.$$

The paper is organized as follows: In Section 2 some sufficient conditions for non-regular feedback linearization are given. An illustrative example is presented in Section 3. Section 4 is a conclusion.

2. NON-REGULAR STATE FEEDBACK LINEARIZATION

In this section we consider non-regular state feedback linearization of nonlinear switched systems.

Consider the following systems

$$\dot{x} = f^{\sigma(t)}(x) + \sum_{i=1}^{m} g_i^{\sigma(t)}(x)u_i, \quad x \in \mathbf{R}^n.$$
 (4)

where $\sigma(t) : [0, \infty) \to \Lambda = \{1, 2, \dots, N\}$ is a right continuous piecewise constant mapping called the switching signal.

Definition 7. System (4) is said to be (locally) non-regular static feedback linearizable, if it can be transformed into

$$\dot{z} = A^{\sigma(t)}z + B^{\sigma(t)}v,\tag{5}$$

via state feedbacks

$$u^{\lambda}(x) = \alpha^{\lambda}(x) + \beta^{\lambda}(x)v, \quad \lambda \in \Lambda, \tag{6}$$

with $\alpha^{\lambda}(0) = 0, \ \beta^{\lambda}(x) : m \times k, \ k < m$, and a state space diffeomorphism

$$z = \phi(x) \tag{7}$$

When k = 1 the linearization is called single-input linearization.

Using Heymann's Lemma (Heymann (1968)), it is easy to prove the following:

Lemma 8. System (4) is said to be non-regular static feedback linearizable, iff it is single-input linearizable, i.e. linearizable by control (6) with $m \times 1$ vectors $\beta^{\lambda}(x), \lambda \in \Lambda$.

Consider an affine nonlinear system

$$\dot{x} = f(x) + \sum_{i=1}^{m} g_i(x)u_i, \quad x \in \mathbf{R}^n, \ u \in R^m.$$
 (8)

Lemma 9. (Sun (1997)) Let $A = \frac{\partial f}{\partial x}|_0, B = g(0)$. If the system (8) is linearizable, then (A, B) is completely controllable.

Now consider the linearization of system (4). Denote $A^{\lambda} = \frac{\partial f^{\lambda}}{\partial x}|_0, B^{\lambda} = g^{\lambda}(0)$, and assume $(A^{\lambda}, B^{\lambda}), \lambda \in \Lambda$ are completely controllable pairs. Then we can find feedbacks K^{λ} such that $\tilde{A}^{\lambda} = A^{\lambda} + B^{\lambda}K^{\lambda}, \lambda \in \Lambda$ are simple and non-resonant. Hence there exist linear coordinate transformations T^{λ} such that $T^{\lambda}A^{\lambda}T^{-\lambda}, \lambda \in \Lambda$ satisfy A.1. For the sake of simplicity, we call the above transformations NR-type transformations.

First, we consider system (3) with A is simple and nonresonant. Then there exists a non-singular matrix T such that $\tilde{A} := TAT^{-1}$ satisfies A.1. Then under the linear coordinate transformation y = Tx, system (3) can be expressed as

$$\dot{y} = \tilde{A}y + \tilde{F}_2 y^2 + \tilde{F}_3 y^3 + \cdots, \qquad (9)$$

where

$$\tilde{F}_k = TF_kT^{-1}(I_n \otimes T^{-1})\cdots(I_{n^{k-1}} \otimes T^{-1}), \ k = 2, 3\cdots.$$

Similar to Theorem 6, we can prove the following : Proposition 10 System (9) can be transformed into

linear form
$$\tilde{z}$$

 $\dot{z} = Az$ by the following coordinate transformation:

$$z = y - \sum_{i=2}^{\infty} \tilde{E}_i y^i,$$

where \tilde{E}_i are determined recursively as

$$\tilde{E}_2 = \Gamma_2 \odot \tilde{F}_2,$$
$$\tilde{E}_s = \Gamma_s \odot \left(\tilde{F}_s - \sum_{i=2}^{s-1} \tilde{E}_i \Phi_{i-1} (I_{n^{i-1}} \otimes \tilde{F}_{s+1-i}) \right), s \ge 3.$$

Now let $\tilde{z} = T^{-1}z$, then we have $\dot{\tilde{z}} = T^{-1}\tilde{A}T\tilde{z} = A\tilde{z}.$

Using Proposition 10, we have :

 $\begin{array}{c} Proposition \ 11. \ {\rm System} \ (3) \ {\rm can} \ {\rm be} \ {\rm transformed} \ {\rm into} \ {\rm a} \\ {\rm linear \ form} \end{array}$

$$\tilde{z} = A\tilde{z}$$

by the following coordinate transformation:

$$\tilde{z} = x - \sum_{i=2}^{\infty} T^{-1} \tilde{E}_i T (I_n \otimes T) \cdots (I_{n^{i-1}} \otimes T) x^i,$$

where \tilde{E}_i are determined recursively as

$$E_2 = \Gamma_2 \odot F_2,$$

$$\tilde{E}_s = \Gamma_s \odot \left(\tilde{F}_s - \sum_{i=2}^{s-1} \tilde{E}_i \Phi_{i-1} (I_{n^{i-1}} \otimes \tilde{F}_{s+1-i}) \right), s \ge 3.$$

In the following, we consider the non-regular linearization of system (4).

Theorem 12. System (4) is non-regular state feedback linearizable, if

(i) $(A^{\lambda}, B^{\lambda}), \ \lambda \in \Lambda$ are completely controllable, where $A^{\lambda} = \frac{\partial f^{\lambda}}{\partial x}|_{0}, \ B^{\lambda} = g^{\lambda}(0).$

- (ii) there exist NR-transformations T^{λ} , $\lambda \in \Lambda$;
- (iii) $T^{-j}\tilde{E}_i^j T^j (I_n \otimes T^j) \cdots (I_{n^{i-1}} \otimes T^j) = T^{-k} \tilde{E}_i^k T^k (I_n \otimes T^k) \cdots (I_{n^{i-1}} \otimes T^k), \forall j, k \in \Lambda, j \neq k, i = 2, \cdots, \infty;$

(iv) there exist constant vectors $b^\lambda,\,\lambda\in\Lambda$ of non-zero component such that

$$b^{\lambda} \in Span\Big\{ (I - \sum_{i=2}^{\infty} \tilde{E}_i^{\lambda} \Phi_{i-1} (T^{\lambda} x)^{i-1}) g_j^{\lambda}, \ j = 1, 2, \cdots, m \Big\}.$$

Proof. First, using Taylor series expression on $f^{\lambda}(x)$, $\lambda \in \Lambda$ with the form of semi-tensor product, we can express system (4) as

$$\dot{x} = A^{\lambda}x + \sum_{i=1}^{m} g_i^{\lambda}(x)u_i + F_2^{\lambda}x^2 + F_3^{\lambda}x^3 + \cdots, \quad (10)$$

where $A^{\lambda} = \frac{\partial f^{\lambda}}{\partial x}|_{0}$. Let $B^{\lambda} = g^{\lambda}(0)$. From the assumption $(A^{\lambda}, B^{\lambda})$ are controllable, we can find K^{λ} such that $\tilde{A}^{\lambda} := A^{\lambda} + B^{\lambda}K^{\lambda}, \ \lambda \in \Lambda$ are simple and non-resonant. From the condition (ii), there exist linear coordinate transformation T^{λ} such that $T^{\lambda}\tilde{A}^{\lambda}T^{-\lambda}, \ \lambda \in \Lambda$ satisfy A.1. Then under the feedbacks $u^{\lambda} = \alpha^{\lambda}(x) + \beta^{\lambda}(x)v$ and coordinates $y = T^{\lambda}x$, system (10) can be expressed as

$$\dot{y} = \tilde{\tilde{A}}^{\lambda} y + \sum_{i=1}^{m} \tilde{g}_{i}^{\lambda}(y) v_{i} + \tilde{F}_{2}^{\lambda} y^{2} + \tilde{F}_{3}^{\lambda} y^{3} + \cdots, \qquad (11)$$

where

$$\tilde{A}^{\lambda} = T^{\lambda} \tilde{A}^{\lambda} T^{-\lambda}, \quad \tilde{g}_{i}^{\lambda}(y) = T^{\lambda} g_{i}^{\lambda}(T^{-\lambda}y) \beta^{\lambda}(T^{-\lambda}y),$$
$$\tilde{F}_{k}^{\lambda} = T^{\lambda} F_{k}^{\lambda} T^{-\lambda}(I_{n} \otimes T^{-\lambda}) \cdots (I_{n^{k-1}} \otimes T^{-\lambda}), \ k = 2, 3 \cdots.$$

Using Proposition 10 and condition (iii), we can transform (11) into

$$\dot{z} = \tilde{\tilde{A}}^{\lambda} z + \sum_{i=1}^{m} \tilde{\tilde{g}}_{i}^{\lambda}(z) v_{i}, \qquad (12)$$

via the coordinate transformation $z = y - \sum_{i=2}^{\infty} \tilde{E}_i y^i$.

From (iv), we know there exist constant vectors b^{λ} , $\lambda \in \Lambda$ of non-zero component such that

$$b^{\lambda} \in Span\Big\{(I - \sum_{i=2}^{\infty} \tilde{E}_i^{\lambda} \Phi_{i-1}(T^{\lambda}x)^{i-1})g_j^{\lambda}, \ j = 1, 2, \cdots, m\Big\}.$$

that is equivalent to

$$b^{\lambda} \in Span \Big\{ \tilde{\tilde{g}}_i^{\lambda}(z), \ i = 1, \cdots, m \Big\}.$$

Let

$$b^{\lambda} = \sum_{i=1}^{m} \xi_{i}^{\lambda} \tilde{\tilde{g}}_{i}^{\lambda}(z), \quad v_{i} = \xi_{i}^{\lambda} \omega,$$

where ω is the input control. Then system (12) can be transformed into

$$\dot{z} = \tilde{A}^{\lambda} z + b^{\lambda} \omega.$$

Suppose $\tilde{z} = T^{-\lambda} z$, then we can get

$$\tilde{z} = A^{\lambda}\tilde{z} + T^{-\lambda}b^{\lambda}\omega.$$

So system (4) is single-input linearizable. \Box

3. ILLUSTRATIVE EXAMPLE

 $Example \ 13.$ Consider the linearization problem of the following system

$$\dot{x} = f^{\sigma(t)}(x) + \sum_{i=1}^{2} g_i^{\sigma(t)}(x) u_i, \quad x \in \mathbf{R}^3,$$
 (13)

where $\sigma(t) : [0, \infty) \to \Lambda = \{1, 2\}$ is the switching signal, the two switching modes are respectively as

$$\begin{cases} \dot{x}_1 = -4x_1 - 4x_2 e^{-x_3} - 2x_2 (e^{x_3} + 2)u_1 \\ + e^{x_1 - x_2^2} (1 - 2x_2 e^{x_3})u_2 \\ \dot{x}_2 = -2x_2 - (e^{x_3} + 2)u_1 - e^{x_1 + x_3 - x_2^2}u_2 \\ \dot{x}_3 = -5x_3 - x_1 + x_2^2 + 4x_2 e^{-x_3} + u_1 - e^{x_1 - x_2^2}u_2; \end{cases}$$
(14)

and

$$\begin{cases} \dot{x}_1 = -2x_1 - 4x_2^2 - 6x_2^3 e^{x_1} + (e^{x_1} + 12x_2)u_1 + u_2 \\ \dot{x}_2 = -3x_2 + 6u_1 \\ \dot{x}_3 = -4x_3 + 6x_2^3 e^{x_1} + (7 - e^{x_1})u_1 - u_2. \end{cases}$$
(15)

We first consider the non-regular state feedback linearization for the first mode. It is easy to get

$$A^{1} := \frac{\partial f^{1}}{\partial x} = \begin{pmatrix} -4 & -4 & 0\\ 0 & -2 & 0\\ -1 & 4 & -5 \end{pmatrix}, \ b^{1}_{1} := g^{1}_{1}(0) = \begin{pmatrix} 0\\ -3\\ 1 \end{pmatrix},$$
$$b^{1}_{2} := g^{1}_{2}(0) = \begin{pmatrix} 1\\ -1\\ -1 \end{pmatrix}.$$

Using state feedback

$$u_1 = v_1, \ u_2 = 4x_2e^{-x_3-x_1+x_2^2} + v_2$$

Therefore (14) can be expressed as

$$\begin{cases} \dot{x}_1 = -4x_1 - 8x_2^2 - 2x_2(e^{x_3} + 2)v_1 \\ +e^{x_1 - x_2^2}(1 - 2x_2e^{x_3})v_2 \\ \dot{x}_2 = -6x_2 - (e^{x_3} + 2)v_1 - e^{x_1 + x_3 - x_2^2}v_2 \\ \dot{x}_3 = -5x_3 - x_1 + x_2^2 + v_1 - e^{x_1 - x_2^2}v_2; \end{cases}$$
(16)

15407

Hence,

$$\tilde{A}^{1} := \frac{\partial \tilde{f}^{1}}{\partial x} = \begin{pmatrix} -4 & 0 & 0\\ 0 & -6 & 0\\ -1 & 0 & -5 \end{pmatrix}.$$

In the following, we will change \tilde{A}^1 into a diagonal matrix. Let

$$y = T_1 x = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 1 & 0 & 1 \end{pmatrix} x$$

Therefore (16) can be expressed as

$$\begin{cases} \dot{y}_1 = -4y_1 - 8y_2^2 - 2y_2(e^{y_3 - y_1} + 2)v_1 \\ +e^{y_1 - y_2^2}(1 - 2y_2e^{y_3 - y_1})v_2 \\ \dot{y}_2 = -6y_2 - (e^{y_3 - y_1} + 2)v_1 - e^{y_3 - y_2^2}v_2 \\ \dot{y}_3 = -5y_3 - 7y_2^2 + [1 - 2y_2(e^{y_3 - y_1} + 2)]v_1 \\ -2y_2e^{y_3 - y_2^2}v_2. \end{cases}$$
(17)

Then

$$\lambda_1^1 = -4, \ \lambda_2^1 = -6, \ \lambda_3^1 = -5.$$

Next we search for the coordinate transformation. It is easy to calculate that

where \ast does not affect the calculation.

Therefore,

Notice that

$$\Phi_{1} = I_{1} \otimes W_{[3,3]} + I_{3} \otimes W_{[1,3]} = \begin{pmatrix} 2 & 0 & 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 2 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 & 1 & 0 \\ 0 & 0 & 1 & 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 2 \end{pmatrix}$$

Then we can get

$$\tilde{E}_s^1=0,\ s\geq 3.$$

Hence the coordinate transformation is

$$z = y - \tilde{E}_2^1 y^2 = \begin{pmatrix} y_1 - y_2^2 \\ y_2 \\ y_3 - y_2^2 \end{pmatrix}.$$

Under coordinates z, (17) can be expressed as

$$\begin{cases} \dot{z}_1 = -4z_1 + e^{z_1}v_2\\ \dot{z}_2 = -6z_2 - (e^{z_3 - z_1} + 2)v_1 - e^{z_3}v_2\\ \dot{z}_3 = -5z_3 + v_1. \end{cases}$$
(18)

Setting $\tilde{z} = T_1^{-1}z$, under coordinates \tilde{z} , (18) can be expressed as

$$\dot{\tilde{z}} = \begin{pmatrix} -4 & 0 & 0 \\ 0 & -6 & 0 \\ -1 & 0 & -5 \end{pmatrix} \tilde{z} + \begin{pmatrix} 0 \\ -(e^{\tilde{z}_3 - 2\tilde{z}_1} + 2) \\ 1 \end{pmatrix} v_1 \\ + \begin{pmatrix} e^{\tilde{z}_1} \\ -e^{\tilde{z}_3 - \tilde{z}_1} \\ -e^{\tilde{z}_1} \end{pmatrix} v_2.$$

Obviously, there is a constant vector \boldsymbol{b} of non-zero component such that

$$b = \begin{pmatrix} -1\\ -2\\ 2 \end{pmatrix} = \begin{pmatrix} 0\\ -(e^{\tilde{z}_3 - 2\tilde{z}_1} + 2)\\ 1 \end{pmatrix} - e^{-\tilde{z}_1} \begin{pmatrix} e^{z_1}\\ -e^{\tilde{z}_3 - \tilde{z}_1}\\ -e^{\tilde{z}_1} \end{pmatrix}.$$

Through feedback

$$\begin{pmatrix} u_1 \\ u_2 \end{pmatrix} = \begin{pmatrix} 0 \\ 4x_2e^{-x_3-x_1+x_2^2} \end{pmatrix} + \begin{pmatrix} 1 \\ -e^{-x_1+x_2^2} \end{pmatrix} w$$

and the coordinate transformation $\sqrt{2}$

$$\begin{cases} \tilde{z}_1 = x_1 - x_2^2 \\ \tilde{z}_2 = x_2 \\ \tilde{z}_3 = x_3, \end{cases}$$

(14) is transformed into

$$\dot{\tilde{z}} = \begin{pmatrix} -4 & 0 & 0\\ 0 & -6 & 0\\ -1 & 0 & -5 \end{pmatrix} \tilde{z} + \begin{pmatrix} -1\\ -2\\ 2 \end{pmatrix} w,$$

where w is the control input.

In the following, we consider mode 2.

It is easy to get

$$\begin{aligned} A^2 &:= \frac{\partial f^2}{\partial x} = \begin{pmatrix} -2 & 0 & 0\\ 0 & -3 & 0\\ 0 & 0 & -4 \end{pmatrix}, \ b_2^1 &:= g_2^1(0) = \begin{pmatrix} 1\\ 6\\ 6 \end{pmatrix}, \\ b_2^2 &:= g_2^2(0) = \begin{pmatrix} 1\\ 0\\ -1 \end{pmatrix}. \end{aligned}$$

Using feedback

$$u_1 = v_1, \ u_2 = 6x_2^3 e^{x_1} + v_2$$

(15) is transformed into

$$\begin{cases} \dot{x}_1 = -2x_1 - 4x_2^2 + (12x_2 + e^{x_1})v_1 + v_2 \\ \dot{x}_2 = -3x_2 + 6v_1 \\ \dot{x}_3 = -4x_3 + (7 - e^{x_1})v_1 - v_2. \end{cases}$$
(19)

Then

$$\lambda_1^2 = -2, \ \lambda_2^2 = -3, \ \lambda_3^2 = -4.$$

It is easy to calculate that

where \ast does not affect the calculation.

Therefore,

Notice that

$$\Phi_1 = I_1 \otimes W_{[3,3]} + I_3 \otimes W_{[1,3]} = \begin{pmatrix} 2 & 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 1 & 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 2 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 2 \end{pmatrix}$$

Then we can get

$$\tilde{E}_s^2 = 0, \ s \ge 3.$$

It is easy to verify that

where $T_2 = I_3$. So the condition (iii) of Theorem 3.5 is satisfied.

Then under the coordinate transformation

$$\begin{cases} z_1 = x_1 - x_2^2 \\ z_2 = x_2 \\ z_3 = x_3, \end{cases}$$

system (19) can be transformed into

$$\begin{cases} \dot{z}_1 = -2z_1 + e^{z_1 + z_2^2} v_1 + v_2 \\ \dot{z}_2 = -3z_2 + 6v_1 \\ \dot{z}_3 = -4z_3 + (7 - e^{z_1 + z_2^2}) v_1 - v_2. \end{cases}$$
(20)

Then it is easy to verify that

$$b = \begin{pmatrix} 1\\6\\6 \end{pmatrix} = \begin{pmatrix} e^{z_1 + z_2^2}\\6\\7 - e^{z_1 + z_2^2} \end{pmatrix} + (1 - e^{z_1 + z_2^2}) \begin{pmatrix} 1\\0\\-1 \end{pmatrix}.$$

So under the coordinates \boldsymbol{z} and the feedback control

$$u = \alpha(x) + \beta(x)w = \begin{pmatrix} 0\\ 6x_2^3e^{x_1} \end{pmatrix} + \begin{pmatrix} 1\\ 1 - e^{x_1} \end{pmatrix} w,$$

(15) is expressed as

$$\dot{z} = \begin{pmatrix} -2 & 0 & 0\\ 0 & -3 & 0\\ 0 & 0 & -4 \end{pmatrix} z + \begin{pmatrix} 1\\ 6\\ 6 \end{pmatrix} w, \ z \in \mathbb{R}^3.$$

where w is the control input. \Box

4. CONCLUSIONS

Non-regular static state feedback linearization of switched nonlinear systems was discussed in this paper. Using semitensor product some easily verifiable sufficient conditions for non-regular feedback linearization were obtained. An illustrative example was presented to depict the linearization technique.

REFERENCES

- A. A. Agrachev, D. Liberzon, Lie-algebraic stability criteria for switched systems, *SIAM J. Contr. Opt.*, Vol. 40, No. 1, 253-269, 2001.
- D. Cheng, L. Guo, J. Huang, On quadratic Lyapunov functions, *IEEE Trans. Aut. Contr.*, Vol. 48, No. 5, pp. 885-890, 2003.
- D. Cheng, Stabilization of planar switching systems, Sys. Contr. Lett., Vol. 51, No. 2, 79-88, 2004.
- D. Cheng, X. Hu, Y. Wang, Non-regular feedback linearization of nonlinear systems via a normal form algorithm, *Automatica*, Vol. 40, No. 3, 439-447, 2004.
- D. Cheng, L. Guo, Y. Lin, Y. Wang, Stabilization of switched linear systems, *IEEE Trans. Aut. Contr.*, Vol. 50, No. 8, 1224-1228, 2005.
- D. Cheng, Controllability of switched bilinear systems, IEEE Trans. Aut. Contr., Vol. 50, No. 4, 505-511, 2005.
- D. Cheng, Y. Lin, Y. Wang, Accessibility of switched linear systems, *IEEE Trans. Aut. Contr.*, Vol. 51, No. 9, 1486-1491, 2006.
- D. Cheng, Design for noninteracting decomposition of nonlinear systems, *IEEE Trans. Aut. Contr.*, Vol. 33, No. 11, 1070-1074, 1988.
- D. Cheng, Matrix and polynomoial approach to dynamic control systems. Beijing: Science Press, 2002.
- W. P. Dayawansa, C. F. Martin, A converse Lyapunov theorem for a class of dynamical systems which undergo switching, *IEEE Trans. Aut. Contr.*, Vol. 44, No. 4, 751-760, 1999.
- S. S. Ge, Z. Sun, T. H. Lee, Reachability and controllability of switched linear discrete-time systems, *IEEE Trans. Aut. Contr.*, Vol. 46, No. 9, 1437-1441, 2001.
- J. P. Hespanha, Uniform stability of switched linear systems: extensions of LaSalle's invariance principle, *IEEE Trans. Aut. Contr.*, Vol. 49, No. 4, 470-482, 2004.
- M. Heymann, Pole assignment in multi-input linear systems, *IEEE Trans. Aut. Contr.*, Vol. 13, No. 6, 748-749, 1968.
- A. Isidori, Nonlinear Control Systems, 3rd ed., Springer, 1995.
- D. Liberzon, A. S. Morse, Basic problems on stability and design of switched systems, *IEEE Control Systems Magazine*, Vol. 19, No. 5, 59-70, 1999.
- D. Liberzon, J. P. Hespanha, A. S. Morse, Stability of switched systems: a Lie-algebraic condi- tion, Sys. Contr. Lett., Vol. 37, No. 3, 117-122, 1999.
- J. L. Mancilla-Aguilar, R. A. Garcia, An extension of LaSalle's invariance principle for switched systems, Sys. Contr. Lett., Vol. 55, 376-384, 2006.
- R. Devanathan, Linearization condition through state feedback of nonlinear systems, *IEEE Trans. Aut. Contr.*, Vol. 46, No. 8, 1257-1260, 2001.
- R. N. Shorten, K. S. Narendra, O. Mason, A result on common quadratic Lyapunov functions, *IEEE Trans. Aut. Contr.*, Vol. 48, No. 1, 618-621, 2003.
- V. I. Arnold, Geomtrical method on the theory of ordinary differential equations, 177-188, New York: Springer.
- Z. Sun, D. Zheng, On reachability and stabilization of switched linear systems, *IEEE Trans. Aut. Contr.*, Vol. 46, No. 2, 291-295, 2001.
- Z. Sun, S. S. Ge, Analysis and synthesis of switched linear control systems, *Automatica*, Vol. 41, No. 2, 181-356. 2005.

- Z. Sun, X. Xia, On nonregular feedback linearization, Automatica, Vol. 33, No. 7, 1339-1344, 1997.
- S. S. Ge, Z. Sun, T. H. Lee, Nonregular feedback linearization for a class of second-order nonlinear systems, *Automatica*, Vol. 37, 1819-1824, 2001.
- L. Vu, D. Liberzon, Common Lyapunov functions for a families of commuting nonlinear systems, *Sys. Contr. Lett.*, Vol.54, No.5, 405-416, 2005.
- G. Xie, L. Wang, Controllability and stabilization of switched linear-systems, Sys. Contr. Lett., Vol. 48, No.2, 135-155, 2003.
- J. Zhao, M. W. Spong, Hybrid control for global stabilization of the cart-pendulum systems, *Automatica*, Vol. 37, No. 12, 1941-1951, 2001.
- J. Zhong, Linearization and stabilization of nonlinear control systems, Ph.D Dissertation, 2007.